
S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 1 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 
 
 
 
 

Spare parts Catalogue 
 

IVECO TRAKKER 380 €6 6X6 
WITH EMERGENCY ELECTRIC PUMP – WB 4500 

 
 
 

Version 0 
 

S.T. SYSTEM TRUCK S.p.A. 
 
 

 
 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 2 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 

Note  

WHEN PLACING ORDERS FOR SPARE PARTS PLEASE HAVE THE FOLLOWING INFORMATION 

AVAILABLE: 

• VEHICLE CHASSIS NUMBER, 

• ASSEMBLY DRAWING NUMBER, 

• ITEM NUMBER OR PART NUMBER. 

Conversion code: 50.01.60.0104 

Contents Page 

TRANSMISSION SHAFT .............................................................................................................................. 3 

BOLT KIT FOR TRANSMISSION SHAFT ................................................................................................... 3 

PNEUMATIC HOSE (FOR APU RELOCATION) ......................................................................................... 3 

PNEUMATIC STRAIGHT COUPLING (FOR APU RELOCATION) ............................................................. 3 

HYDRAULIC HOSE ...................................................................................................................................... 3 

HYDRAULIC VALVES KIT ........................................................................................................................... 4 

ELECTRIC-PUMP UNIT ............................................................................................................................... 5 

ELECTRIC-PUMP ......................................................................................................................................... 6 

APU SUPPORT BRACKET .......................................................................................................................... 6 

EXTENSION CABLE .................................................................................................................................... 7 

ELECTRO-PUMP SUPPLY CABLE ............................................................................................................. 7 

150A FUSE SUPPLY CABLE ...................................................................................................................... 7 

ELECTRIC-PUMP GROUND CABLE .......................................................................................................... 8 

DASHBORD CABLE .................................................................................................................................... 8 

PRESSURE SWITCH CABLE ...................................................................................................................... 8 

2 WAY CABLE – SUPERSEAL – L=6500 mm ............................................................................................ 8 

LOOSE COMPONENTS FOR ELECTRIC-PUMP ELECTRICAL SYSTEM ................................................ 9 

CONTACTS ................................................................................................................................................. 10 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 3 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 

TRANSMISSION SHAFT 

 

(CODE: S140180651440) 

 

BOLT KIT FOR TRANSMISSION SHAFT 

(CODE: 0305900004) 

Pos. Code Description QTY 

1 321100140050 HEX SCREW M14x50 – 10.9 – GEOMET 8 

2 39600140000 HEX NUT M14 – 10 – METALBLOC 8 

 
 

PNEUMATIC HOSE (FOR APU RELOCATION) 

 

(CODE: 05154516) 

 
 

PNEUMATIC STRAIGHT COUPLING (FOR APU RELOCATION) 

 

(CODE: 05154516) 

 
 
 

HYDRAULIC HOSE 

 
Pos. Code Description QTY 

1 45303400 3/8” TUBE – M16x1.5 – M16x1.5 90° - L = 3400 mm 1 

2 45322600 3/8” TUBE – M18x1.5 – M18x1.5 - L = 2600 mm 1 

3 45380450 1/2” TUBE – M22x1.5 – M22x1.5 90° - L = 450 mm 1 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 4 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 

HYDRAULIC VALVES KIT 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

(CODE: 05210034) 

 

Pos. Code Description QTY 

1 05204503 PRESSURE SWITCH N.C. – 1 bar – 1/4" 1 

2 184000140000 ALUMINUM WASHER 14,5x20x1,5 1 

3 05850082 REDUCTION FITTING – 1/4" F – M16x1.5 M 1 

4 05850081 JUNCTION FITTING – M16x1,5 F – M16x1,5 F 1 

5 05850080 REDUCTION FITTING – M22x1,5 F - M16x1,5 M 1 

6 05850162 T-FITTING - M22x1,5 M 2 

7 05850079 JUNCTION FITTING – 1/2" M – M22x1,5 F 3 

8 05851002 CHECK VALVE – 1/2" F 2 

9 05850163 90° JUNCTION FITTING – M22x1.5 M – M22x1,5 F 1 

10 05850042 JUNCTION FITTING – 1/2" M – M16x1,5 M 1 

11 05850055 JUNCTION FITTING – 1/2" M – M18x1,5 M 1 

12 05206858 T-FITTING – ½" F 1 

1 

3 

4 

2 

5 

6 
10 

6 7 7 

7 

8 

8 9 

11 

12 

13 

14 

13 
14 

15 

16 

17 

18 

19 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 5 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

Pos. Code Description QTY 

13 185000220000 COPPER WASHER 21,5x27x1.5 2 

14 05850084 3/4" HOSE CONNECTOR - 1/2" M 2 

15 05850060 90° JUNCTION FITTING – M18x1.5 M – M18x1,5 F 1 

16 05850048 JUNCTION FITTING – M26x1.5 M – M18x1,5 M 1 

17 05850047 3/4" HOSE CONNECTOR – M30x2 F 1 

18 197000150024 HOSE CLAMP 2 

19 05906015 HOSE CLAMP 22 – RUBBER COVERED 1 

 

ELECTRIC-PUMP UNIT 

 

  
 

(CODE: 601450) 

 

Pos. Code Description QTY 

1 3012050001 ELECTRIC-PUMP SUPPORT 1 

2 3012000001 ELECTRIC-PUMP 1 

3 0101001163 ELECTRIC-PUMP BRACKET 1 

4 0101001164 ELECTRIC-PUMP BRACKET WITH RELAY SUPPORT 1 

5 0101001174 PROTECTION COVER 1 

6 05251790 FUSE HOLDER 1 

7 05251787 3A FUSE 1 

8 05255501 MICRO-RELAY 1 

1 

2 

3 

4 

5 

6 

7 

8 

9 

10 

11 

12 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 6 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

Pos. Code Description QTY 

9 05251509 MICRO-RELAY HOLDER 1 

10 05850054 JUNCTION FITTING – 3/8” M – M18x1,5 M 1 

11 05850051 JUNCTION FITTING – 1/4” M – M16x1,5 M 1 

12 801350 ELECTRIC-PUMP COVER 1 

 
 

ELECTRIC-PUMP 

 
 

(CODE: 3012000001) 

 

Pos. Code Description QTY 

1 3012100001 ELECTRIC MOTOR 1 

2 3012100002 GEAR PUMP 1 

3 3012100003 MOTOR – PUMP COUPLING JOINT (NON REPRESENTED) 1 

4 3012100004 RELAY 1 

5 3012100005 ELECTRIC MOTOR BRUSHES KIT (NON REPRESENTED) 1 

 
 
 

APU SUPPORT BRACKET 

 

(CODE: 2507000043) 

1 

2 

3 

4 5 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 7 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 

EXTENSION CABLE 

 

 

 
Pos. Code Description QTY 

1 3503050032 
2 WAY EXTENSION CABLE – SUPERSEAL – L=3000 mm 
(for wheelbase extension) 

1 

2 3503050033 
5 WAY EXTENSION CABLE – SUPERSEAL – L=3000 mm 
(for wheelbase extension) 1 

3 3503050034 
2 WAY EXTENSION CABLE – DIN connectors – L=3000 mm 
(for wheelbase extension) 1 

3 3503050041 
3 WAY EXTENSION CABLE – DIN connectors – L=3000 mm 
(for wheelbase extension) 1 

 

ELECTRO-PUMP SUPPLY CABLE 

 

 
 

(CODE: 3503050140) 

CABLE TERMINAL (CODE: 05252519) 

 
 

150A FUSE SUPPLY CABLE 

 

 
 

(CODE: 3503050141) 

1 

2

3 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 8 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 

ELECTRIC-PUMP GROUND CABLE 

 

(CODE: 3503050142) 

DASHBORD CABLE 

 

(CODE: 3503050143) 

 
 

PRESSURE SWITCH CABLE 

 

 
 

(CODE: 3503050144) 

CABLE TERMINAL (CODE: 05251740) 

 
 

2 WAY CABLE – SUPERSEAL – L=6500 mm 

 

 
 

(CODE: 35951017) 

CABLE TERMINAL (CODE: 05251740) 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 9 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 

LOOSE COMPONENTS FOR ELECTRIC-PUMP ELECTRICAL SYSTEM 

 

5mm RED LED 
 

 
 

(CODE: 05256001) 

 

MICRO-RELAY 
 

 
 

(CODE: 05255501) 

 

BUZZER 

 

(CODE: 35950902) 

 

150A FUSE 
 

 
 

(CODE: 05251781) 

 

FUSE HOLDER 

 

(CODE: 05251791) 



S.T. SYSTEM TRUCK S.p.A. 
Trasformazioni e Soluzioni per Veicoli Industriali 
 

I - 46048 Roverbella (MN) - via Paesa, 28 
Tel. +39 0376 696809 - Fax +39 0376 176 01 80 
P.I. 03117430235  - C.F. 02209770797 
e-mail:   info@stsystemtruck.com 
web:      www.stsystemtruck.com 

 

 

 
 

Rev. 0 – 07/2018 Page 10 of 10 
Quality System Certificate 

ISO 9001:2015 
Certificate No.: 11 057 01 

 Code: 00_20_01_0143.doc 
 

 

CONTACTS 

 

S.T. System Truck S.p.A. 

Via Paesa, 28 – 46048 Roverbella (MN) – Italy 

Tel. +39 0376 696809 | Fax +39 0376 1760180 

www.stsystemtruck.com 

 

Information: 

info@stsystemtruck.com 

 

Export: 

export@stsystemtruck.com 

 

Aftersales: 

supporto@stsystemtruck.com 

 

Technical: 

tecnico@stsystemtruck.com 

 

 
CTRL+Click on link to open Google Maps: 

https://goo.gl/maps/SjnymEHJ3cx 

 

 

Sat Nav coordinates: 45°17'08.2"N+10°47'58.8"E 

 

How to find us: 

By car: 

From Milan  Motorway A4 exit Peschiera del Garda. 

Take SR249 (passing Salionze, Valeggio sul Mincio) to 

Roverbella. 

 

From Venice  Motorway A4. At A4/A22 conjunction 

take direction Modena. Exit A22 Nogarole Rocca. Take 

SR62 then SP17 to Roverbella. 

 

From Bologna  Motorway A1. At A1/A22 

conjunction take direction Verona-Brennero. Exit 

Nogarole Rocca. Take SR62 then Sp17 to Roverbella. 

 

From Munich (D)  Motorway A22 direction Modena. 

Exit A22 Nogarole Rocca. Take SR62 then SP17 to 

Roverbella. 

 

By train: 

Trenitalia main lines East-West and North-South 

directions converge to Verona. Then Mozzecane 

Station with local line is the nearest station to our 

facilities. 

 

By plane: 

Verona airport Valerio Catullo is the nearest airport to 

our facility. (20 min. by taxi).Other nearby 

international airports are: Bergamo Orio al Serio (1,25 

hr), Venice Marco Polo (1,25 hr), Bologna Guglielmo 

Marconi (1,25 hr), Milan Linate (1,5 hr) and Milan 

Malpensa (2,5 hr). 
 

S.T. SYSTEM TRUCK S.p.A. 


